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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN', ’slISetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BYiE) | GEBATIK () | ERE (EA/H) | EREE(B/R) | XS R
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FRV (ml plant-1)
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P3-11_0, Day=67 (2025-06-08)
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P3-11
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P3-11_0, Day=66 (2025-06—07)
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P3-11

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:30 283 150.0 2.888 RS {Ri%006:30 Bz (REAERESE)
07:05 283 150.0 2. 888 B 1Rige07:05 Bzh (REEEE)
08:00 283 150.0 2.888 | 1Rige08:00 Bzh (KREEESR)
08:45 283 150.0 2.888 5| {BRi%e08:45 Bz (GRPMERE)
09:30 283 150.0 2.888 5| {Ri%@09:30 Bz (KREEESE)
10:05 283 150.0 2.888 BE| Ri&@10:05 Bzl (REAEHE)
10:40 283 150.0 2.888 BE| Ri8@10:40 Bz (REAERSE)
11:15 283 150.0 2.888 B 1Rige11:15 Bzh (REEESR)
11:45 283 150.0 2.888 S| Rige11:45 Bz (REAERSE)
12:15 283 150.0 2.888 B Rige12:15 Bz (REAERE)
12:45 283 150.0 2.888 S| 1Rige12:45 Bzh (REEESR)
13:15 283 150.0 2.888 BE| Rige13:15 Ba) (REAEHSE)
13:50 283 150.0 2.888 BS| 1Ri%e13:50 B3 (GREMEESE)
14:20 283 150.0 2.888 S| Ri%e14:20 B3 (REERSR)
14:55 283 150.0 2.888 5| {BRige14:55 B3 (RPERKSE)
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16:10 283 150.0 2.888 e Rige16:10 Bz (REAERSE)
17:00 283 150. 0 2.888 5| {Ri%e17:00 B3h (RPERKSE)
24it]5094.0 (18%%) 2700. 0 3ESFHKEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[EKECE (1820.0 vs 3593.0) 5
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:30 283 150.0 2.888 S| {Ri&e07:30 Bl (REAEESE)
08:25 283 150.0 2.888 |Z=| {Ri%e08:25 Ba (KREAEHE)
09:35 283 150.0 2. 888 FE| 1BRi%@09:35 Bz (kBERE)
10:25 283 150.0 2.888 FH| 1Ri%@10:25 Bzh (REBERSE)
11:20 283 150.0 2.888 FA| {Ri&e11:20 Bz (RAEEE)
12:20 283 150.0 2.888 FE| 1Ri%e12:20 Bz (kAERSE)
13:20 283 150.0 2.888 [Z=| 1BRi%e13:20 B3h (REEREER)
14:10 283 150.0 2.888 |Z=| BRige14:10 Bzh (RAEESE)
15:30 283 150.0 2.888 |Z=| 1Ri&e15:30 Bzh (RAEEEE)
17:05 283 150.0 2.888 [Z=| 1Ri%e17:05 Bzh (GREEESE)
24t 2830.0 (10%%) 1500. 0 JEPUHKEC: 2080.0, PH: 6.0

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEKECE (1773.0 vs 3573.0) 15

150.0), FAEEHT—@ % XA HS
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P3-11_0, Day=64 (2025-06-05)
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:20 288 150.0 2.888 el {Ri&e07:20 Bal (REEESE)
08:15 288 150.0 2.888 BE| {Ri&e08:15 Bl (REAEHE)
09:15 288 150.0 2. 888 RS {Ri8e09:15 Bzt (REERSE)
10:10 288 150.0 2.888 el Rige10:10 Bal (REEESE)
11:05 288 150.0 2.888 el Rige11:05 Bz (REAERSE)
12:00 288 150.0 2.888 B Rige12:00 Bz (REAERE)
12:55 288 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:55 288 150.0 2.888 B 1Rige13:55 Bah (REEESER)
14:45 288 150.0 2.888 BS| 1Ri%e14:45 Bz CGREAEESE)
15:40 288 150.0 2.888 S| Ri%e15:40 Bz (REERESR)
=21t 2880.0 (10)%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1780. 0 vs 3467.0) iH 5



P3-11_0, Day=63 (2025-06—04)
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